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3                                                                             3 point problems 

1ba c5dc2bda

(A) 5(B) 01(C)  55(D)  25(E)

If ab = c and cd = 5 then a2bd is: 
(E) other (D) 32 (C) 25 (B) 10(A) 5 

22013

(A) 75(B) 49(C)  049(D)  479(E)

The sum of the prime factors of 2013 is 

(E) other (D) 674 (C) 194 (B) 94 (A) 75 

313

Find the sum of all the proper fractions with denominator 13

(E) 1 (D) 3 (C) 6 (B) 7 (A) 5 

4

Find the distance which Mara covers to get to her Bunica.

(E) 700 m (D) 1 km (C) 800 m (B) 400 m (A) 300 m 

124

If half of a quarter third of a number is 24, then that number is equal to ...

(E) 96 (D) 288 (C) 576 (B) 567 (A) 56 

6aaaa176a

The product of a two identical digit number aa and the digit a is 176. Find the value of digit a.

(E) 8 (D) 44 (C) 11 (B) 4 (A) 6 

7

How many meters of fence do I need to surround the two lands?

(E) 400 m (D) 360 m (C) 1000 m (B) 300 m (A) 420 m 
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8
How many 4-digit numbers width different figures one can form using the digits of the number 2012?

(E) 12 (D) 8 (C) 18 (B) 24 (A) 20 

138

The sum of the square of squares of the numbers 3 and 12, and the square of their sum is equal to

(E) 50 (D) 194 (C) 120 (B) 38 (A) 600 

01
The family Gurukan has three little Gurukan-daughters. Every daughter has 2 Gurukan- brothers. 
How many people live in the Gurukan family?

(E) 11 (D) 9 (C) 8 (B) 7 (A) 5 

99104055

Anna lights every 10 minutes a candle. Every candle burns for 40 minutes. How many candles are 
alight 55 minutes after lighting the first candle?

 

(E) 6  (D) 5  (C) 4  (B) 3  (A) 2  

12 2012

Andra, following a certain algorithm, has transformed a number until she got the number 2012. Find 
the algorithm and the number of steps needed for this transformation.

(E) 432 (D) 500 (C) 669 (B) 671 (A) 670 

13 3117

. A container filled with water weighs 31 kg, and the same container half-filled with water 
weighs 17 kg. How much does the empty container weigh?

(E) 5 (D) 4 (C) 3 (B) 2 (A) 1 

14 AB

What is the minimum distance to be covered in order to get through the maize from A to B?

(E) 53 (D) 54 (C) 55 (B) 30 (A) 50 
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How many different squares can you identify in the picture?

(E) 23 (D) 19 (C) 15 (B) 25 (A) 27 

967640.26036.790

Peter had the choice of sitting in two railway carriages recently. Both had 76 seats, but one had an 
empty mass of 40.260 tonnes, the other 36.790 tonnes. What is the difference in their masses?

(E) 14.530 (D) 4.470 (C) 3.530 (B) 3.470 (A) 3.340 

17

Which of the following numbers is the largest? 

(A) 1 × 1 × 1 × 1 × 1 × 2 

(B) 1 × 1 × 1 × 2 × 2 

(C) 1 × 2 × 3 
(D) 2 × 2 × 2 

(E) 3 × 3 

1831

The sum of the ages of Ann, Bob and Chris is 31 years. What will be the sum of their ages in 
three years time?

(E) 40 (D) 37 (C) 35 (B) 34 (A) 32 

19

What is the smallest positive integer which is the sum of three consecutive positive even 
numbers and also the sum of two consecutive odd numbers? 

(E) 44 (D) 24 (C) 18 (B) 12 (A) 8 
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20 20

(A) 

(B)   

(C)  

(D) 

(E) 

A watch of the expensive trade mark MeisterSinger has only one arm. What is the time shown in the 
picture? 

(A)ten minutes before ten 

(B) five minutes before ten 
(C) five minutes after ten 

(D) ten minutes after ten 

(E) fifteen minutes after ten 

293 329

(A) 01(B) 00(C)  05(D)  02(E)

The picture shows a 3 3 slide puzzle. The piece in the left upper cell with the K must be moved to 
the right under cell. The right upper cell is empty. What is the minimal number 

(D)it is not 
possible 

(D) 13 (C) 12 (B) 11 (A) 10 
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22

6 6

Ann has a lot of pieces like the one in the picture.  She tries to punt as many as possible 

in the 6 by 6 square.  What is the largest possible number of pieces Ann can put in the 
square? The pieces may not overlap each other.

(E) 10 (D) 9 (C) 8 (B) 7 (A) 6 

23
A square and a circle have equal perimeters. The ratio of the area of the square to the area of the 
circle is:

(E) 1 : 4 (D) π : 9 (C) π : 5 (B) π : 0 (A) 1 : 1 

223 2

How many 3 × 2 rectangles are in the diagram?

(E) 17 (D) 14 (C) 9 (B) 8 (A) 3 

21232

There are two little fleas sitting on the number line: Tim and Tom. Tim sat on number 2, Tom on 
number 32. Another flea Molly came and sat down exactly in the middle between them. On 
which number did Molly sit?

(E) 18 (D) 17 (C) 16 (B) 15 (A) 14 
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Nathalie  wanted  to build the same cube as Diana had (picture 1). However, Nathalie ran out of small 
cubes and built only the part of the cube, as you can see in the picture 2. How many cubes is she missing?

(E)9  (D) 8 (C) 7 (B) 6 (A) 5 

27

Which of the shapes does not have the same perimeter as the grey square?  

 
 

(E)

 
(D)(C)

 
(B)  

 
 
 
 
 

(A)  

28

Michael got special drops. First four doses had to be taken every 15 minutes. He took the first 
dose at 11:05. What time did he take the last dose?

(E) 12:05 (D) 12:00 (C) 11:55 (B) 11:50 (A) 11:40 

21645

18

Max, David and Peter competed in ice cream eating. Max ate 6 scoops in the same time as David ate 4 
scoops and Peter 5 scoops. Max ate 18 scoops in half an hour. How many scoops in total did they eat in 
half an hour together?

(E) 51 (D) 45 (C) 33 (B) 30 (A) 27 
 

30

(A) 11 (B) 33 (C) 99 (D) 183 (E) 

At the 2013 story tower, an elevator works in a very specific way; it takes passengers only 18 stories up 
and then 7 stories down, always in this pattern. After how many such cycles one ca n reach the 2013th 
floor of the Kanga tower? 

(E) i t i s  impossible to get to the 2013th level in such way (D) 183 (C) 99 (B) 33 (A) 11 
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31130,80,55,10

There are given four angles in one obtuse and one acute triangle: 130, 80, 55, and 10. What is the 
measure of the smallest angle of the acute triangle?

31

(E) 45 (D) 40 (C) 30 (B) 25 (A) 15 

32

162 white and 135 brown eggs have to be packed separately in several egg containers. The 
containers have the same number of dimples and there were no empty dimples in any container 
and neither egg was put on the top of another. What is the largest possible number of dimples in 
one such container?

32

(E) 45 (D) 27 (C) 15 (B) 9 (A) 5 

3333

(A) 1 (B) 2 (C) 3 (D) 5 (E)  

A die is a cube with its faces numbered from 1 to 6 (with dots). Numbers on opposite faces add up 
to 7. A die lays on a plane as shown in the figure. A move consists of a rotation of 90 degrees 
around one of the edges of the lower face, until a new face touches the plane. There are four 
possible moves named N, W, S and E, according as the die moves to the North, West, South or 
East, respectively. If we perform in sequence the moves N, W, S and E, how many points are 
there on the upper face in the final position of the die? 

(E) other (D) 5 (C) 3 (B) 2 (A) 1 

3436366638

2030

The number 36 has the property that it is divisible by the digit in the unit position, because 36 
divided by 6 is 6. The number 38 does not have this property. How many numbers between 20 and 
30 has this property?

(E) 6 (D) 5 (C) 4 (B) 3 (A) 2 
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35559

Dimitar has a rectangular parallelepiped with lengths of the edges 5 cm, 5 cm and 9 cm. He 
wants to divide it into unit cubes and make smaller cubes from them, each of them built with 
more than one cube and all of them having different edges. What it the maximal number of 
cubes that Dimitar can build?

(E) 4 (D) 3 (C) 2 (B) 1 (A) 0 

3626

Ana thought on a natural number. She divided it by 2, then took the square root and afterwards 
multiplied it by 6, an obtained the same number she started with. In which number has Ana 
thought?

(E) 20 (D) 18 (C) 12 (B) 9 (A) 3 

3720133014130335244528

From the two numbers 2013 and 3014 we obtain 1303. Which number can we obtain in the same 
way from the numbers 3524 and 4528? 

(E) 4254 (D) 4245 (C) 3528 (B) 2454 (A) 2445 

383

How many natural numbers of 3 digits exist with all digits even? 

(E) 130 (D) 125 (C) 100 (B) 80 (A) 64 

314455

The difference between two numbers is 44. Increasing 5 units each, the largest is five times the 
lowest. What is the lowest number? 

(E) 8 (D) 7 (C) 6 (B) 5 (A) 4 

285350

130

A student get 5 points if his exercise is correct and looses 3 points if his exercise is incorrect. 
After 50 exercises he has 130 points. The number of correct exercises is  

(E) 15 (D) 20 (C) 25 (B) 30 (A) 35 

2920132012

Today, on March, 21th, 2013, ”Kangaroo” contest takes place. The previous ”Kangaroo” contest 
took place on March, 15th, 2012. How many days ago it was happened? 

(E) 371 (D) 370 (C) 350 (B) 359 (A) 365 
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2231

From a wooden cube with side 3 cm we cut at the corner a little cube with side 1 cm (see 
picture). What is the number of faces of the solid after cutting off such small cubes at each 

corner of the big cube?

(E) 36 (D) 30 (C) 24 (B) 20 (A) 16 

237

33

?

Mary had built a row of seven dominoes following instructions game (cells in contact have the 
same number of points). She knows that counting all the cells had bee n were 33 points. But his 
brother has released two pieces off the row. How many points were in the cell with the big 
question mark?

(E) 5 (D) 4 (C) 3 (B) 2 (A) 1 

224542013

Paul’s school is 454 years old in 2013. In what year was his school founded?
(E) 1569 (D) 1561 (C) 1559 (B) 1641 (A) 1669 

40%

What is the least possible number of males in a family in which forty per cent of the family 
members are female?

(E) 60 (D) 6 (C) 3 (B) 2 (A) 1 

26

What is the difference between the smallest and the largest of the following calculations?  

−

(E) 
1

31
2

 (D) 23 (C) 20 (B) 
1

11
2

 (A) 4 
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22 1 3 6 2   

1

The incorrect statement 

1 + 3 + 6 × 2 = 22 

may be made correct by increasing one of the numbers in it by 1. Which number?

(E) 22 (D) 2 (C) 6 (B) 3 (A) 1 

28  
22x x  1x  ؟ 

What is the value of 2x + x2 for x = −1? 

(E) 3 (D) 2.5 (C) 2 (B) 1.5 (A) −1 

21

(A)   (B)  D B (C)  D A, B , D (D)   (E)  

Which of the 4 shapes on the right can be built by glueing together some sides of wooden pieces 
which have the shape of the piece shown on the left? 

(E) all of them (D) A, B and D (C) B and D (B) only D (A) none 

18

Ann, Bruno, Cindy and Daniel are sitting around a table; each has a hat with their name.  They 
exchange hats by turns, as follows:     First Ann exchanges her hat with Bruno, then Bruno 
exchanges hats with Cindy (hence, after the second turn, Cindy has Ann’s hat and Bruno has 
Cindy’s). This goes on until each one have their own hat. How many exchanges are needed?

(E) 16 (D) 12 (C) 8 (B) 6 (A) 4 
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19

Sunday morning, the length of little worm Kesha was 1 cm. During the day his length has 
increased by half. And during the night his length has increased by one third compared to the 
evening value. How long was Kesha Monday morning?

(E) 7/3 cm (D) 13/6 cm (C) 2 cm (B) 11/6 cm (A) 5/3 cm 

52 31 35 25

In a group of men and women, the average age is 20. If the men’s average is 25 years and the 
women’s average is 25, then the ratio of the number of men to the number of women is:

(E) 3 : 2 (D) 4 : 3 (C) 2 : 1 (B) 7 : 5 (A) 5 : 7 

 

53 12

Mike has 1 euro. He decided to earn more money. He invested that 1 euro, and after one turn he 
had 2 euros. Then he saved 1 euro, and invested 1 euro again. After every turn his investment 
is doubled, and after every turn he saved 1 euro. How many euros he had in total after the 
100th turn?

(E) 200 (D) 102 (C) 101 (B) 100 (A) 99 

12

40 , 42 , 33 , 35 , 26 , 28 , .........

 

. Tulio writes down the next list of natural numbers. Which is the last number that can be 
written by Tulio? 
40 , 42 , 33 , 35 , 26 , 28 , ... 

(E) 2 (D) 4 (C) 6 (B) 7 (A) 9 

11

Estela writes down a list of all integers that have three different digits, that she can form using 
the digits 0, 3, 4, 5 and 8. She puts the numbers in order, from minor to major. Which is the 
sum of the numbers that are in the 3 last places of the list?

(E) 1330 (D) 1303 (C) 917 (B) 971 (A) 1033 
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Abel, Benito and Carlos compete with the jumping frogs, that they have constructed in a course 
of robotics, moving along a trail which is marked in centimeters. Abel’s frog can make  jumps 
of 60 cm, Benito’s frog can make 80 cm in each jump and Carlos’ frog can make 15 cm in 
each jump. All of them start from the 0 cm mark. At what distance from the depart point 
meet all thre frogs for the first time?

(E) 160 (D) 240 (C) 180 (B) 120 (A) 60 

17

Which of the following pieces covers the largest number of dots in the table? (Piece must lie 
completely on the table.) 

(E)  

 

(D)  

 

(C)  

 

(B)  

 

(A)  
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2                                                                                   4 point problems

18W E + ARE = COOL

W + E

In the equality WE + ARE = COOL the letters denote the digits of positive integers (different 
letters denote different digits). What is the biggest value that W + E can take??

(E) 18 (D) 17 (C) 16 (B) 15 (A) 14 

11201310 2013

(A) 7 (B) 5102 (C) 4209 (D) 01005 (E)  

Find the sum of all the digits of 102013 – 2013

(E) other (D) 18112 (C) 9314 (B) 2013 (A) 7 

68=2012/(1 + 2 + 3 + 4 + 5)-2012/(2013 + 2014 + 2015 + 2016 + 2017)

 (2013 + 2014 + 2015 + 2016 + 2017)/2012 − (1 + 2 + 3 + 4 + 5)/2012 = 
(E) 4 (D) 5 

(C) 
2013

2012
 (B) 

2011

2012
 

(A) 6 

69, ,a b c

All the three different digit numbers are formed using the distinct nonzero digits a, b, c 
Find the sum of all these numbers divided by the sum of their digits.

(E) 36 (D) a × b × c (C) a + b + c (B) 37 (A) 222 

62

Mary drawn figures on identical sheets of paper in form of square, one by one. How many of 
these figures have perimeter equal to the perimeter of the sheet of paper? 

(E) 6 (D) 5 (C) 4 (B) 3 (A) 2 

6314

In 3/5 of the amount Tom received from his grandmother he bought a ticket for a football 
match. Left him another 14 dollars. How much has Tom received from his grandmother?

(E) 70  (D) 42  (C) 50  (B) 35  (A) 21  
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62 , , , , , , , , ,A B C D E F G H I J KL؟ 

 
How many of the chords designated by 10 points: A, B, C, D, E, F , G, H, I, J of the circle do not 
cut the diameter KL? 

(E) 15 (D) 25 (C) 21 (B) 20 (A) 10 

61

The square in the picture, with each side of 1, is completely divided into squares. What is the value 
of the grey square area?

(E) 
8

1

2
 (D) 

7

1

2
 (C) 

6

1

2
 (B) 

5

1

2
 (A) 

4

1

2
 

66

The following cards are placed so that a sum of three two-digit numbers is formed. What is the 
value of this sum? 

(E) 97 (D) 78 (C) 99 (B) 40 (A) 38 

675505068

To built a 5km fence, the support pillars should be placed each 50 metres. The pillars are square 
in shape with the side of 50cm. How many such pillars are needed 

(E) 100 (D) 50 (C) 90 (B) 45 (A) 990 
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68147812

There is five boxes in the store: 1 kg, 4 kg, 7 kg, 8 kg, 12 kg. If one of them will be sold, from the 
remaining 4 boxes it is possible to make two groups with the same weight. Which box will be 
sold?

61

(E) 12 (D) 8 (C) 7 (B) 4 (A) 1 

61

2 3 6 7 8 9 . 

Dan put a good addition of two 2-digit numbers on the magnetic board, but somebody make 
order after lesion.  On the board is seen the following: 2 3 6 7 8 9 + =.  What was the result 
of the addition?

78

(E) 87 (D) 76 (C) 69 (B) 89 (A) 67 

782013201379

On 23rd of March 2013 it is Saturday. What day will it be on 1st of June 2013? 

(E) Sunday (D) Saturday (C) Friday (B) Thursday (A) Monday 

7372

A stack of stones must be transported. If Ann does the job alone, she needs one hour. If Ben 

does the job alone, he needs two hours. They decide to do the job together. What time will 

they need? 

(A) 30 min. (B) 40 min. (C) 1 hour (D) 1,5 hour (E) 3 hour. 

7240%

(A) 20% 

(B) 10%           

(C)         

(D) 10% 

(E) 20% 

0545. Granddad used to walk every day. Nowadays he doesn’t walk anymore on Wednesdays 

and Sundays. But on the other days he has extended his route with 40%. Is the total  distance 
Granddad his walking in a week more or less than before? 

73
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(A) The distance is 20% less 

(B) The distance is 10% less 

(C) The distance is the same 

(D) The distance is 10 % more 

(E) The distance is 20 % more 

7110

30

 
  

The picture shows how to make three squares using 10 matchsticks. How many matchsticks do you 
need to make 30 squares? 

(E) 81 (D) 77 (C) 75 (B) 71 (A) 66 

76

 (A)  (B)  (C)  (D)  (E)  

The train is 300 meters long. It takes the train 12 seconds to pass a semaphore. What is the 
speed of the train?  

(E) you can’t know (D) 150 km/h (C) 120 km/h (B) 100 km/h (A) 90 km/h 

77106%6

1005%100

In a bottle is 10 liter water of a 6% salt content. This means 6 gram salt is dissolved in 1 liter water. 
Pete wants to make bottles of 100 ml water of 5% salt content of it. This means he has to 

dilute the original liquid. How many bottles of 100 ml can Pete make in this way of 10 liter?

(E) 120 (D) 116 (C) 110 (B) 105 (A) 101 

786018

22

Albert is making a bicycle tour of 60 km. He is riding with a constant speed of 18 km/h. Beatrice is 
making the same tour in the opposite direction with a constant speed of 22 km/h. Both start 
at 11:00. At what time to they meet?

(E) 12:40 (D) 12:30 (C) 12:20 (B) 12:10 (A) 12:00 
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71358

20

Three brothers want to visit a fair. Unfortunately, their amount of money is insufficient. Albert 

has 3 euro, Bert has 5 euro and Chris 8 euro. Their father gives the three boys 20 euro together, 

after which each of the boys has the same amount of money. How much money does each boy 

have?

(E) 20 (D) 16  (C) 12  (B) 6.67  (A) 5.33  

88

 John has made a building of cubes. In the picture you see this building from above. In each cell 

you see the number of cubes in that peculiar tower. When you look from the front, what do you 
see? 

 
 

(A)  

 

(B)  

 

(C)  

 

(D)  

 

(E)  

 

892013

(A) 5  (B) 1 (C) 0 (D) 2 (E)  

What is the remainder of 2013 : (2 + 0 + 1 + 3)? 

(E) some other 

number 

(D) 3 (C) 1 (B) 0 (A) 2 

8263353640

Father is 63 years old. His three sons are 35, 36 and 40 years old. How many years ago were the 
three sons together as old as their father?

(E) 35 (D) 32 (C) 24 (B) 16 (A) 8 

B
e
n
ja

m
in
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The diagram shows a clock face with 12 hour marks. How many different ways are there to draw 
a straight line through the clock face splitting the hour marks into two sets so that the hour 
numbers on each side of the line have the same sum? 

(E) 4 (D) 3 (C) 2 (B) 1 (A) 0 

82

How many triangles of any size are there in the diagram?  

(E) 32 (D) 30 (C) 20 (B) 18 (A) 12 

81

On Kangaroo Island there are seven lakes. 3 rivers flow from each lake and 2 rivers flow into 
them (each river flows from a lake and flows into a lake, or sea). How many rivers flow into 
the sea?

(E) 9 (D) 7 (C) 6 (B) 4 (A) 2 

86

A 12-meter block has been sawed into three-meter logs within 12 minutes. How long does it 
take to saw the same block into one-meter logs?

(E) 48  (D) 44  (C) 40   (B) 36 (A) 33 
  

almanahj.com/sa



    

23 
 

 

871 2 2 3 3 3 

What is the maximum number of 1 × 2 × 2 figures that can be put in a cube 3 × 3 × 3?

86

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7 

881 2 2 

3 3 3 

(A) 24 (B) 95  (C) 59 (D) 41 (E)   

How many two digit numbers have the 01’s digit larger than the units digit? 

(E) none of the 
previous 

(D) 90 (C) 54 (B) 45 (A) 36 

812, 3, 4, 5, 6, 7, 8, 9

Roo the kangaroo chose three numbers from the set 1, 2, 3, 4, 5, 6, 7, 8, 9. He then multiplied 
the three numbers. Which of the following could not be the result he found?

(E) 288 (D) 64 (C) 39 (B) 35 (A) 27 

1812

Matthew managed to shoot a few paper roses during the festival. His sister realized that if he 
shot three-times as many as he did, he would have 12 roses more. How many roses did 
Matthew shoot?

(E) 3 (D) 4 (C) 5 (B) 6 (A) 7 

19

10,30,90,300,810640

Before his flight Michael had to weigh his empty bag. For measuring he used grandpa’s old balance 
scale and 5 weights of 01 g, 21 g, 41 g, 211 g and 101 g. He found out that the bag’s  weight was 
640 g. Which weight did he put to the same side of the scale as the bag?

(E) 810  (D) 300  (C) 90  (B) 30  (A) 10  
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4

Five small penguins from the Penguin family eat together as much fish per day as both parents 
together. Small penguins eat identical amount each, the parents eat identical amount each. 
The whole family eats 4 kg of fish per day. How many grams of fish does one small penguin 
eat on one day?

(E) 400  (D) 600  (C) 800  (B) 1000  (A) 2000 

13
Gregory has as many brothers as sisters; however, his sister Mary has twice as many brothers as 
sisters. How many kids are in Gregory’s family?

(E) 10 (D) 7 (C) 6 (B) 5 (A) 4 

12

. A gardener plants a certain number of trees in the first row. He plants twice this number in the 
second row, three times this number in the 3rd row and so on till he complete 9 rows of trees. If 
he wanted to rearrange these trees into a perfect square grid later on, how many should he 
plant in the first row?

(E) 9 (D) 7 (C) 5 (B) 3 (A) 1 

114 41

3 , 9

In the squares of the 4 4 chessboard integers are written so that the numbers in adjacent 
squares differ by 1. We also know that numbers 3 and 9 are written there. How many different 
numbers are denoted in the table?

(E) 8 (D) 7 (C) 6 (B) 5 (A) 4 

169

Inside a basket there are fruits. One third of the fruits are oranges, the rest are bananas and apples. 
The number of apples exceeds the number bananas in one half of the number of oranges. If 
there are 9 bananas in the basket, how many pieces of fruit is there altogether inside the 
basket?

(E) 40 (D) 36 (C) 30 (B) 27 (A) 25 
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171n n

12

(A) 02 (B) 09 (C) 05 (D) 04 (E)  

If to buy at once n > 1 bars the same type of chocolate you should pay in total n EUR less than to 
buy n bars same chocolate separately. Andres bought 3 bars at once and paid 9 EUR. How much 
you should pay if you buy 5 bars of the same chocolate at once? 

(E) it is impossible 

to determine 
(D) 16 (C) 15 (B) 14  (A) 13  

1819932013

1 150319932 15031994 3 15031995 ..... 15032013.

Mary was born on March 15th 1993. Today, on March 15th 2013 she wrote 1 15031993 

2 15031994 3 15031995..... 15032013. Find 100th number of the row.
(E) 9 (D) 3 (C) 2 (B) 1 (A) 0 

11

The rectangular mirror was broken into seven pieces. Six of these pieces are shown in 
figure on the right. Which of the following pieces is the 7th one?

 (E)  

 

(D)  

 

(C)  

 

(B)  

 

(A)  

 

988

(A)  

(B)            

(C)         

(D)  
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(E)  

 

Which of the following polygons cannot be a figure of intersection of a square and an 
equilateral triangle? 

(A) quadrangle 

(B) pentagon 

(C) hexagon 

(D) heptagon 

(E) all previous are possible 

989
Among Nikolay’s schoolmates there are twice more girls than boys. Which of the following 
numbers can be a number of all children which study in this class?

(E) 29 (D) 25 (C) 24 (B) 20 (A) 29 

98284 42

 

There are 8 kangaroes on the 4 4 board as shown in the figure. What least number of moves is 
necessary for exactly 2 kangaroes be in each row and in each column? Per one move one 
kangaroo can jump on next (by side or by vertex) empty cell 

(E) 5 (D) 4 (C) 3 (B) 2 (A) 1 

983

Leo has a piece of butter that has the form of a cuboid. Before he makes a plane cut 
through the piece with a knife, he tries to figure out which of the following geometrical 

shapes are possible for the cutting surface: square; rectangle which is not a square; 
triangle; trapezium which is not a rectangle; pentagon. How many of these five shapes 

are possible?

(E) 5 (D) 4 (C) 3 (B) 2 (A) 1 
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982

There are 2 identical pencils and 2 identical rubbers. The weight of 2 pencils together 
with one rubber is 20 g but the weight of one pencil together with 2 rubbers is 25 g. 
How much is the weight of one pencil?

(E) 10  (D) 8  (C) 6  (B) 5  (A) 3  

981

The final of the local hockey championship was a match full of goals. There were 6 goals 

in the first half and the guest team was leading after the first half. After the home team 
shot 3 goals in the second half, they won the game. How many goals did the home team 
shoot altogether?

(E) 7 (D) 6 (C) 5 (B) 4 (A) 3 

986

Yesterday, when I found myself face to face with the Kangaroo, the average of the times 

left to noon and left to midnight was giving the exact time of our encounter. What time 
was it then?

(E) 10:00 (D) 9:00 (C) 8:00 (B) 6:00 (A) 5 : 00 

9872012

The perimeter of a square is 2012cm. What is its area?

(E) 250 309  (D) 11 236  (C) 101 2036  (B) 26 659  (A) 253 009  

988

1  2  3  4  5  27     

(A) 0 (B) 5 (C) 2 (D) 9 (E)  

How many of the addition symbols (+) in the incorrect statement 

1 + 2 + 3 + 4 + 5 = 27 
must be changed to multiplication symbols (×) to make the statement true? 

(E) it is 
impossible 

(D) 4 (C) 3 (B) 2 (A) 1 
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981

AB

Nick learns to drive.  For  the moment,  he only can turn to the right and cannot  turn to the 
left.  What is the smallest number of turns he must do to get from A to B ?

(E) 10 (D) 8 (C) 6 (B) 4 (A) 3 

9986

What is the last digit of the smallest 3-digit number divisible by 6 and having exactly two different 
digits in its decimal notation?

(E) 6 (D) 4 (C) 2 (B) 1 (A) 0 

999

(A)  (B)05 دقيقة (C)  (D)  (E)  

. How much time will pass from the middle of the first half of an hour till the middle of its third 
quarter? 

(E) 25 min (D) 20 min 15 
sec 

(C) 15 min 30 
sec 

(B) 15 min (A) 22 min 30 
sec 

992

On his birthday, grandfather said: ”Today I’ve started my eighth decade”. His grandson, who 
likes to count in dozens, remarked: ”Grandpa, you are in your .... dozen”. What word 
is missing? 

(E) ninth (D) eighth (C) seventh (B) sixth (A)fifth 

  

almanahj.com/sa



    

29 
 

 

99312

n

Mike has 1 euro. He decided to earn more money. He invested that 1 euro, and after 
one turn he had 2 euros. Then he saved 1 euro, and invested 1 euro again. After every 
turn his investment is doubled, and after every turn he saved 1 euro. Which of the 
following expression can describe how many euros will he have after the nth turn?

(E) 5n − 0  (D) 2n + 1 (B) n + 1 (A) n 

99213

AL66,12,18,...

BARDAN

Alex counts the letters of his name the right way and back again, over and over, as 

indicated. Number 13 is in this way given to the letter A. Below the letter L you can see 
among the numbers all the multiples of 6: 6, 12, 18, ..., etc. Bardan is going to count the 

letters of his name in the same way. Of which number you can see all i ts multiples 
below the same letter?

(E) 10 (D) 8 (C) 5 (B) 4 (A) 2 

991

(A) 

(B) 

(C) 

(D) 

(E) 
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Aron, Bern and Carl always lie. Each of then owns a red stone or a green stone. Aron 
says: “My stone is of the same color than Bern’s stone”, Bern says: “My stone is of the 

same color than Carl’s stone”. Carl says: “Exactly two of us own red stones”. Which of 
the following asertions is true? 

(A) Aron’s stone is green 

(B) Bern’s stone is green 
(C)Carl’s stone is red 

(D) Aron’s and Carl’s stones are of different color 
(E) none of them 

996

(3,4,6)(10,9,7)

(16,17,19)(20,1,3)

2013

From a list of three numbers we call ”changesum” the procedure to made a new list 
replacing each number by the sum of the other two. For example, from 3, 4, 6 

”changesum” gives 10, 9, 7 and a new ”changesum” leads to 16, 17, 19 . If we begin 
with the list 20, 1, 3 , what is the maximum difference between two numbers of the list 

after 2013 consecutive ”change- sums”?

(E) 2013 (D) 19 (C) 17 (B) 2 (A) 1 

997201312013

50100

1000

We fill a rectangular grid of 2013 squares with all the integers from 1 to 2013, each 
number once. We write it in increasing order, filling first row 1, after row 2, etc.. If the 

number 50 is in the second row and number 100 in the 4th row, in which row will be 
located number 1000?

(E) 33 (D) 31 (C) 30 (B) 40 (A) 39 
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1                                                                                   5 point problems

1182013 

All 4-digit positive integers with the same four digits as in the number 2013 are written in one line 
without gaps and in an increasing order. Which of the following combinations of two digits 
appears less times in this sequence of digits than the other four?

(E) 31 (D) 12 (C) 02 (B) 30 (A) 01 

119(P)A

 

 
Andrei (A) is going to the swimming pool (P). His mother says: ”You are allowed to walk only 
from the left to the right and up to down in the streets on the sketch”. In how many ways can 
Andrei get to the pool? 

(E) 8 (D) 3 (C) 1 (B) 6 (A) 4 

120

100, 200, 300, 400, 500, 1000, 1100C CC CCC CD D M MC      

, MC D, MCC D, MCCC D, MCD D, MD DM D     

MM 

If you know the Greco numbers was written as follows: 

100, 200, 300, 400, 500, 1000, 1100C CC CCC CD D M MC        

The sum of the following Roman numbers: M - D, MC - D, MCC - D, MCCC - D, MCD - D, MD - D, 
out of which you subtract the Roman number MM is: 

(E) D (D) M (C) MMM (B) MM (A) MMD 

92950

Find the number of pairs of two-digit natural numbers whose difference is equal to 50.

(E) 10 (D) 60 (C) 50 (B) 30 (A) 40 
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922

(A)  

(B)  

(C)  

(D)  

(E)  

Kangoo Lucky loves travelling through tunnels by train. Yesterday he measured the time when he 
entered the tunnel (12:30) and when he came out again (12:34). How long was Lucky in the 
tunnel? 

(A) exactly four minutes 

(B) at most four minutes 
(C) at least four minutes 

at least three minutes (D)  
(E) more than four minutes 

 

923

How many two-digit numbers have the property that the product of the two digits is an odd 
number? 

(E) 16 (D) 20 (C) 40 (B) 25 (A) 50 

922

 
(E) 20287 (D) 12287 (C) 11287 (B) 22287 (A) 29287 

 

9211,0,5,2,5,4,7

 
Put one of these numbers 0, 1, 2, 3, 5, 6, 7 in each box so that the operation is correct. What is the 
value of this operation result? 

(E) 132 (D) 167 (C) 176 (B) 123 (A) 120 
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9261,0,2,9,5,4,7,1,4

 
Put one of these numbers 0, 1, 3, 4, 5, 6, 7, 8, 9 in each box so that the operation is correct. 
What is the value of this operation result? 

(E) 501 (D) 765 (C) 865 (B) 134 (A) 863 

927
9 7 + 5 6 = 1413 

 

(A) 1 (B) 0 (C) 5 (D)2  (E) 

In the sum  
9 7 + 5 6 = 1413 

The middle digits are invisible. What is the larger of the two invisible numbers? 

(E) None of the 
previous 

(D) 3 (C) 2 (B) 1 (A) 0 

928

Ann drives on her bicycle with constant speed. In the picture you see her watch in the beginning 
and at the end. 

(E)  

 

(D)  

 

(C)  

 

(B)  

 

(A) 
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92155

 
Alex like to place five stones on the 5   5-grid, in such a way that there are no two stones in the 
same row, column or diagonal. Alex places the first stone in the central cell. In how many 
ways he can finish the job? 

(E) 4 (D) 3 (C) 2 (B) 1  

938

 
A large cube has been built with little cubes of five different patterns, in a regular way. What is 
the central little cube? 

 (E)  

 

(D)  

 

(C)  

 

(B)  

 

(A)  

 
 

939055905:11

 

The water level of the sea reaches its maximum (flood) every 12 hours and 24 minutes. Today, at 
12:00, it was flood-tide. How many days will it last before it is flood-tide at 12:00 again? 

(E) 61 (D) 60 (C) 31 (B) 30 (A) 10 

9325

901
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(A) 5 (B) 9 (C) 5 (D) 1 (E) 

Mark plans to visit a friend who lives 2 Km from him. There is a straight street connecting their 
houses. Mark plans to bring his dog with him and wants the dog running as much as possible, so 
when walking throws a ball ahead and orders the dog to pick the ball and to bring it back to him, 
and so on. Marks walks at 4 Km per hour, his dog can run at 18 Km per hour. What is the 
maximum length in Km the dog can cover playing in this way? 

(E) A different 
number 

(B) 4 (C) 5 (D) 8 (A) 2 

933915101

 

40 boys and 28 girls stay in a circle, hand by hand. Exactly 18 boys give their right hand to a girl. 
How many boys give their left hand to a girl? 

(E) 20 (D) 14 (C) 28 (B) 9 (A) 18 

9324

 
The diagram shows an incomplete magic square that uses the first nine odd numbers.  What 
number goes in the central cell? 

(E) 15 (D) 13 (C) 11 (B) 9 (A) 7 

 

931
 

(A)  

(B)  

(C)  

(D)  

(E)  

One of two kangaroo friends, Kan and Roo, stole a candy. When the teacher asked them what 
happened - Kan said ”I stole the candy”, - Roo said ”I did not steal the candy”. If at least one of 
the two lied, which of the following is true? 

(A) Kan stole the candy 
(C) none of the two stole the candy 

(E) both Kan and Roo said the truth 
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(A) Kan stole the candy 
(C) none of the two stole the candy 

(E) both Kan and Roo said the truth 

936

51

 
Mary wrote down a number in every square of the strip so that the sum of the numbers in any three 
consecutive squares was the same (see fig.), and then she counted the sum of all the squares 
of the strip. The sum appeared to equal 20. Some numbers blotted. What number was written 
in the second square?   

(E) 8 (D) 6 (C) 4 (B) 3 (A) 2 

93711

 

(A) 5 (B)4 (C) 7 (D) 05 (E)  

There are 00 boys more than girls among Ivanko’s classmates. The boys in the class are three 
times as many as the girls. Irynka is Ivanko’s classmate. How many girls are Irynka’s classmates? 

(E) such situation 
is impossible 

(D) 12 (C) 7 (B) 6 (A) 5 

 

938

 

Volodya and Pavlyk collect stamps. If Volodya gave Pavlyk as many stamps as he has got now, 
both of the boys would have the equal number of them. Volodya gave Pavlyk some stamps (no 
more than five), and the rest put equally in three albums. How many stamps did Volodya give to 
Pavlyk? 

(E) 5 (D) 4 (C) 3 (B) 2 (A) 1 

93157

 

(A)  (B)  (C)  (D)  (E) 

Jacob and Will were making big cubes from small wooden ones. They both used 27 cubes each. 
Jacob painted all sides of the cubes and than glued them together into a big cube. Will did it the 
other way. He glued the big cube first and than painted it red on all sides. How many times more 
color did Jacob use compared to Will? 

(E) Six times. (D) Five times.   (C) Four times. (B) Three times (A) Two times. 
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9281275

25 

When Pinocchio lies, his nose gets 8 cm longer. When he says the truth, the nose gets 3 cm 
shorter. When his nose was 7 cm long, he said five sentences and his nose got 25 cm long after 
that. How many of Pinocchio’s sentences were true? 

(E) 5  (D) 4 (B) 2 (A) 1 

9290501

 

Kevin and Jim played poker with 1-cent and 2-cent coins. At the beginning they both had 10 cents each, 

Jim having 5-times more 1-cent coins than Kevin. How many coins did the boys play with? 
(A) 12 (B) 14 (C) 16 (D) 18 (E) 20 

92244510250

5725

 

66 cats signed up for the contest MISS CAT 2013. After the first round, 21 got out, because they failed in 

catching mice. 27 cats out of those that remained in the contest had stripes and 32 of them had one black 
ear. All  striped cats with black ear got to the final. What is the minimum number of the finalists? 

(E) 27 (D) 14 (C) 13 (B) 7 (A) 5 

 

923276

 

27 regular dice are clued together to from a cube. What is the maximum number of dice with six 
pips that can be seen on the outside of the cube? 

(E) 18 (D) 21 (C) 24 (B) 26 (A) 27 

92205

12 

Father Kangaroo writes down digits 1 to 5 and asks his daughter kangaroo to form a random 4 
digit number without repeating any digit. What is the probability that the number formed by 
daughter kangaroo is divisible by 12? 

(E) 7/60 (D) 1/20 (C) 23/120 (B) 3/16 (A) 1/12 

921101540

9500

20500 

(A91 (B) 41 (C) 11 (D) 011 (E) 
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A bike rider plans to ride 10 km in exactly 15 minutes. To do this he must keep an avera ge speed of 40 

km/h. After 9 km is he right on schedule. Average speed so far is exactly 40 km/h. The final kilometer 
consists of an uphill  of 500 m and a corresponding downhill. Up the hil l  he bikes with an average speed of 
20 km/h. How fast must he ride the last 500m towards targets to clear time for exactly 15 min.? 

(E) It is 
impossible. 

(D) 100 km/h (C) 80 km/h (B) 60 km/h (A) 40 km/h 

9264 4139

 

In the squares of the 4 4 chessboard integers are written so that the numbers in adjacent 
squares differ by 1. We also know that numbers 3 and 9 are written there. Find the sum of 
all the numbers written in the table. 

(E) 36 (D) 40 (C) 48 (B) 72 (A) 96 

92750

71 

Both Grandmother and her granddaughter were born on 21 of March.  This year,  on their 
common birthday the number of Grandmother’s years will be equal to the number of 
granddaughter’s months and the sum of their ages will be 78. By how many years Grandmother is 
older than her granddaughter? 

(E) 76 (D) 72 (C) 66 (B) 60 (A) 56 

 

928547

 
How many 3-digits numbers possess the following property: subtracting 297 from such a number, we get 
a 3-digit number written with the same digits in the reverse order? 

(E) 70 (D) 60 (C) 10 (B) 7 (A) 6 

9215102

5102

 

(A) 1 (B) 0114 (C) 0117 (D) 5102 (E)  

There were 2013 inhabitants on an island, some of them knights and the other l iers. The knights on ly say 
truth and the liars always l ie. Every day one of the inhabitants said: ”After my departure the number of 

knights on the island will equal the number of l iars” and then left the island. After 2013 days there was 
nobody on the island. How many liars were there initially? 

(E) impossible to 
determine 

(B) 1006 (C) 1007 (D) 2013 (A) 0 
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91810

10

10 

Three painters should paint 10 identical 4-faced pyramids. Each side of a pyramid should be painted 

completely only by one painter. Different painters can paint different sides of the same pyramids, but no 
two of them can paint the same pyramid simultaneously. For painting of any side of a pyramid 10 seconds 
are required to each painter. Painters begin to work simultaneously. For what least time( by seconds) 
painters can paint completely all 10 pyramids? 

(E) 170  (D) 160  (C) 150  (B) 140  (A) 130  

919START

FINISH335

8133

FINISH61,2,3,4,5,6

 
(A) 4(B) 9 (C) 52 (D) 02 (E) 55 

There is playground on the diagram. Getting on a shaded circle you should move back on a circle indicated by 
an arrow. In the beginning the button is on START. Alex rolled the die 6 times and his results were 1, 2, 3, 

4, 5, 6 in some order, and he reached to the FINISH. How many pips should he have had on the first rolling?   
(E) only 6 (D) only 4 (C) only 2 or 3 (B) only 1 or 3 (A) only 2 or 5 

 

912

 
There are four buttons on the line. Two of them have happy face, and two of them have sad 
face. If to press on a face, its expression turns to the contrary (e.g. a funny face turns into a sad 
face after the touch). In addition to that, the bordering pictures of the pressed button change 
expressions opposite also. Following the diagram, how many times at least should you press on 
the buttons in order to get all happy faces on the line?   

(E) 6 (D) 5 (C) 4 (B) 3 (A) 2 
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91399

 

Construct a cube by 4 white and 4 black unit cubes. How many different cubes could be 
constructed in this way? (Two cubes are not different if the one could be obtained by rotating 
the other.) 

(E) 6 (D) 7 (C) 8 (B) 9 (A) 16 

912054

 

Using the digits 1, 5 and 9 Ben made three various three-digit numbers (in each number each of 
these digits used exactly once). To what of the following values the sum of these three numbers 
cannot be equal? 

(E) 1731 (D) 2385 (C) 945 (B) 1953 (A) 1665 

911594

 
The rectangle consists of six squares as shown. Find the perimeter of the rectangle if its  length is 
equal to 546 cm. 

(E) 2046 (D) 2036 (C) 2026 (B) 2016 (A) 2006 
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9165 5 2007 26 10 2013  

How many neighbour couples of months with an odd number of days are there in the period  
05.05.2007  - 26.10.2013? 

(E) 17 (D) 15 (C) 13 (B) 11 (A) 7 
 

917, ,a b c90b ac

b 

The perimeter of a triangle with the sides a, b and c is equal to 90 cm. It is known, that side b is 
50 % shorter than side a, and the side c is 50 % longer than side b. Find the length of the 
least side of this triangle. 

(E) 30 cm (D) 25 cm (C) 20 cm (B) 15 cm (A) 10 cm 

918102 

(A) 9 (B) 5 (C) 4 (D) 7 (E) 

10 children (boys and girls) stand in a line. The number of children between any two boys does 
not equal 2. What the greatest number of boys can be among these 10 children? 

(A) 4 (B) 5 (C) 6 (D) 7 (E) the situation 
is not 

possible 

159V

 
(A) 0 (B) 2 (C) 5 (D) 7 (E)  

Winnie Pukh left his house (marked V on the scheme) in the morning. For a day he visited all  his friends 
and remained to spend the night in the hous e of Donkey Ia-Ia. Winnie Pukh visited some of friends 
twice, but each path on the scheme he passed exactly once.  In  what house Ia-Ia lives? 

(A) 1 (B) 3 (C) 5 (D) 7 (E) impossible to 
determine 
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160

 

(A)      

(B)  

(C)  

(D)  

(E)  

February 20th, March 12th, March 20th, April  12th and April  23th are birthdays of Andy, Betty, Cathie, 
Dannie and Eddy. Andy and Eddy were born in the same month, Betty and Cathie were born in the same 
month as well. Andy and Cathie were born in the same day number of different months, Danny and Eddy 
were born in the same day number of different months as well. What day is Betty’s birthday? 
(A) February 20th 

(B) March 12th 

(C) March 20th 
(D) April 12th 

(E) April 23th 

9691

 
When Matthew and Marten found their old model railway, Matthew quickly made a perfect 
circle from 8 identical track parts.  With the same type of track parts Marten tries    a little 
more difficult track starting with 2 of these pieces. He wants to use as few pieces as possible 
for his closed track. How many pieces does his track consist of? 

(E) 16 (D) 15 (C) 14 (B) 12 (A) 11 

962

 
Charley wants to exchange the 3 white tokens with the 3 black tokens and can do it by moves. A move is 

either to push a token to an empty neighbouring square or to jump over one token in case the 
following square is empty. What smallest number of moves is necessary? 

(E) 19 (D) 18 (C) 17 (B) 16 (A) 15 
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9633 50013 

. 
 

 
Four strips of 3, 5, 11 and 13 cm long are fixed with one end common as shown in the figure. The other 

ends of the strips are the vertices of a quadrilateral. What is the maximum area that can have this 
quadrilateral? 

(E) 126 cm2 (D) 128 cm2 (C) 96 cm2 (B) 98 cm‎2‎ (A) 142 cm2 

 

96255

5540002

 

(A) 001 (B) 000 (C) 005 (D) 002 (E) 

 

Alix was 22 last week. When she adds together her age and the last two digits of the year she 
was born (that is, ignoring the ’nineteen hundreds’), she gets 55 + 40 = 002. Alix’s elder sister 
Beatrix also had a birthday last week. When Beatrix does the same for her corresponding 
numbers, what answer should she get? 

(E) More 
information 

is needed 

(D) 113 (C) 112 (B) 111 (A) 110 

9610011

 

Pinocchio arranges the integers 1, 2, 3, ..., 100 around a circle. Father Carlo promised him a 
golden coin for each number that is greater than the sum of its neighbors. What is the 
largest number of golden coins Pinocchio can get? 

(E) 1 (D) 25 (C) 49 (B) 50 (A) 99 

966N1N  

N is a natural number. Among (A) - (E), what number can be the difference between the sum of 
digits of N and that of N  + 1? 

(E) 2015 (D) 2014 (C) 2013 (B) 2012 (A) 2011 
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96705

 
From 4 identical cubes (the net of such a cube is shown in Figure 1), Alice glues a bar shown in 
Figure 2 (only faces with identical numbers are glued together). What is the largest sum that 
Alice can get on the bar surface?   

(E) 76 (D) 74 (C) 72 (B) 68 (A) 66 

968

 

Two cats Tony and Tiny are napping on a sofa. Tony went to nap first, and then Tiny took a 
quarter of the free surface. Together, they occupied exactly half of the sofa. What part of 
the sofa was occupied by Tiny? 

 

(E) 
1

12
 (D) 

1

8
 (C) 

1

6
 (B) 

1

5
 (A) 

1

2
 

96142

24 

What is the smallest possible number of elements in a set of natural numbers with exactly 4 
numbers divisible by 2, exactly 3 numbers divisible by 3, and exactly 2 numbers 
divisible by 6? 

 
(E) 12 (D) 10 (C) 6 (B) 5 (A) 4 

978

5491

9159255491 

Basil is encoding numbers as follows: starting with an integer, he writes down the product of its 
first two digits, then he multiplies the second and the third digits, and so on.  
For instance, the number 5648 will become 302432. How many numbers can turn to 5648? 

(E) 4 (D) 3 (C) 2 (B) 1 (A) 0 
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9791, 2, 3, ..., n 13496

12 

(A) 2 (B) 9 (C) 5 (D) 4 (E)  

Among n natural numbers 1, 2, 3, ..., n, at least 13 are divisible by 4 and at most 9 are divisible 
by 6. How many of these numbers are divisible by 12? 

(E) impossible to 
determine 

(D) 6 (C) 5 (B) 4 (A) 3 

9725527 

What is the smallest number of consecutive integers such that exactly 5 of them are divisible by 
5 and exactly 7 of them end with 7? 

(E) 30 (D) 25 (C) 23 (B) 22 (A) 21 

 
9730,521 442

495 

Basil chose several numbers among the integers 1, 2, 3,..., 30. It turned out that exactly 4 of 
them are divisible by 4, exactly 3 are divisible by 6, and exactly 4 are divisible by 5. What is the 
smallest possible number of integers in Basil’s collection? 

(E) 11 (D) 9 (C) 7 (B) 6 (A) 4 

9720n N nn 

A) n − 0 (B) 5n − 0 (C) 2n (D) 2n + 1 (E)  

Let n ∈ N0. The number of integers that are less than n and greater than −n equals: 
(E) infinitely 

many 
(D) 2n + 1 (C) 2n (B) 5n − 0 A) n − 0 

 
97113

AL6 6,12,18,....

MARTEN

SN
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(A) S = 1.5N (B) S = N + 2 (C) S = 5N − 5  (D) S + N = 10 (E)   

Alex counts the letters of his name the right way and back again, over and over, as indicated. 
Number 13 is in this way given to the letter A. Below the letter L you can see among the 
numbers all the multiples of 6: 6, 12, 18, ..., etc. In the same way you can see all the multiples of 
some other numbers. Martin is going to count the letters of his name in the same way. In his 
name you can also see all the multiples of some numbers. What formula gives you the smallest 
such number S from the number of letters N of the name? 

(E) Such a formula 

does not exist 
 (D) S + N = 10 (C) S = 5N − 5 (B) S = N + 2 (A) S = 1.5N 

 

976(a + b · c)·(d + e · f) = 2013a, b, c, d, e, f4, 5, 6, 7, 8, 9

09a b c d  e f 

(A) 24 (B) 72 (C) 30 (D) 42  (E)
 

In the equality (a + b c) (d + e f ) = 2013 the numbers a, b, c, d, e, f are the digits 4, 5, 6, 
7, 8, 9 in some order. So each of ten digits, 0 through 9 appears once in the given 

equality. If a < b < c < d what is the value of e · f ?
(E)It may have 

di fferent values 
(D) 42 (C) 30 (B) 72 (A) 24 

1777525600

30000 

Admission fees in the auditorium of ”Science Park” are 75 cents for adults and 25 cents 
for young people. One afternoon in the auditorium of the Park, with a capacity for 600 

people and it was not full, was collected 30000 cents. How many adults attended at 
least? 

(E) 367 (D) 361 (C) 365 (B) 300 (A) 359 

1782013 

(A) 0114 (B) 0117 (C) 474 (D) 0127 (E) 

 

We color the cells in a rectangular grid alternately black and white like a chessboard. If 
we made this procedure on a grid composed exactly by 2013 cells, and we start painting 

white one of the four corners of the rectangle, how many cells will be coloured white?
(E) It depends on 

the dimensions of 
the rectangle 

(D) 1037 (C) 976 (A) 1007 (A) 1006 

 

almanahj.com/sa


